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General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 

  , , ,    
. 

   . 

    . 

      
    .

Reg. No. : .....................................   

Name : .........................................   
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SECTION – A 

(ACCOUNTANCY) 
 

PART – I 

A. Answer any 4 questions from 1 to 6. Each carries 1 score. (4  1 = 4) 
 

1. Which is regarded as a summary of cash book in a not-for-profit organization ?  

 (a) Receipts and Payments Account (b) Income and Expenditure Account 

 (c) Profit and Loss Account (d) Balance Sheet 

 

2. In a partnership firm, Realisation Account is prepared in connection with: 

 (a) Admission of a partner (b) Retirement of a partner 

 (c) Death of a partner (d) Dissolution of a firm 

 

3. The ratio in which existing partners surrender their share of profit in favour of new 

partner is called : 

 (a) Sacrificing ratio (b) Gaining ratio 

 (c) Old ratio (d) New ratio 

 

4. The ratio in which the continuing partners divide the retiring partner’s share of profit is 

called : 

 (a) Old Ratio  (b) New Ratio 

 (c) Sacrificing Ratio (d) Gaining ratio 

 

5. Partner’s Current Account is prepared under : 

 (a) Fluctuating capital method  

 (b) Fixed capital method 

 (c) Both Fixed and Fluctuating capital method 

 (d) None of these 

 

6. Amount due to the retiring partner is generally transferred to his _______. 

 (a) Capital account (b) Current account 

 (c) Loan account (d) Bank account 



SY-73  3 P.T.O.  

SECTION – A 

(ACCOUNTANCY) 
 

PART – I 

A. 1  6    4   .  1  . 

       (4  1 = 4) 

1.       

.  

 (a)     
 (b)     
 (c)     
 (d)   
 
2.       

   : 
 (a)    (b)     
 (c)    (d)     
 
3.        

    : 
 (a)   (b)   

 (c)   (d)   

 
4.       

 : 
 (a)   (b)   

 (c)   (d)   
 

5.        : 
 (a)      

 (b)    
 (c) ,     
 (d)   

 
6.       _______ 

 .  
 (a)   (b)   

 (c)   (d)   
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B. Answer all questions from 7 to 9. Each carries 1 score. (3  1 = 3) 

7. Which among the following is a capital expenditure in a library ? 

 (a) Electricity charge (b) Purchase of books 

 (c) Newspaper and Periodicals (d) Honorarium 

 

8. Find odd one from the following : 

 (a) Interest on capital (b) Interest on drawings 

 (c) Partner’s salary (d) Partner’s commission 

 

9. At the time of admission of a new partner, general reserve appearing in the old balance 
sheet is transferred to : 

 (a) all partner’s capital account (b) new partner’s capital account 

 (c) old partners’ capital account (d) Revaluation account 

 

PART – II 

A. Answer the following question. Carries 2 scores. (1  2 = 2) 

10. Write any two examples for Not-for-profit organisation. 

 

B. Answer any 1 question from 11 to 12. Carries 2 scores. (1  2 = 2) 

11. Select the suitable Account from brackets for the following : 

 (Realisation, Cash/Bank, Partner’s Capital) 

 (a) On dissolution of the firm, capital accounts of partners are closed by transferring 
the capital balance to _______ Account. 

 (b) The accumulated loss appearing in the balance sheet is closed by transferring to 
_____ Account. 

 

12. Fill the journal entries with suitable account from the hints given. 

 (Hint : Revaluation Account, Bank Account, Goodwill Account) 

 (a) When the new Partner brings goodwill in cash. 

                 ........................             Dr 

                       To Goodwill A/c 

 (b) Goodwill distributed among the existing partners. 

                  ........................A/c 

                        To Sacrificing Partners Capital A/c 
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B. 7  9     . 1  . (3  1 = 3) 
7.       ? 

 (a)    (b)    
 (c)    (d)   
 
8.     : 
 (a)   (b)  ()  

 (c)   (d)    
 
9.     ,     

   ( )   : 
 (a)     
 (b)     
 (c)     
 (d)   
 

PART – II 
A.    . 2  : (1  2 = 2) 

10.      .  
 
B. 11  12    1   . 2 . 
     (1  2 = 2) 
11.      

 : 
 (, /,  ) 

 (a)  ,    
   _______  .  

 (b)      _____  
.  

 
12.       

  .  
 ( :  ,  ,  ) 
 (a)     . 
                 ........................             Dr 
                       To  A/c 

 (b)     . 
                  ........................ Dr. 
                        To    A/c 
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PART – III 

A. Answer any 3 questions from 13 to 16. Each carries 3 scores. (3  3 = 9) 
13. Sri Sakker is a partner in a firm. Calculate the interest on capital due to him from the 

following information : 

 Balance of Capital as on 01-04-2020 ` 1,00,000 

 Additional capital brought in by him on 01-10-2020 ` 30,000 

 Rate of interest – 6% p.a. 

 

14. Prepare a Receipts and Payments Account for the year ended 31-03-2021 from the 

following details : 

 Receipts : 

 Opening Cash Balance 3,200 

 Subscription 12,000 

 Sale of investments 10,000 

 

 Payments : 

 Honorarium 4,000 

 Newspaper and periodicals 3,600 

 Printing charges 1,000 

 

15. Write any three differences between dissolution of partnership and dissolution of firm. 

 

16. Rahim and Thilak are partners sharing profits in the ratio of 3 : 2. They admitted Joseph 

as a new partner for 1/5 share in the future profits of the firm. Calculate their new profit 

sharing ratio. 

 

B. Answer the following question. Carries 3 scores. (1  3 = 3) 
17. Smt. Yamuna, a partner withdrew ` 1,500 each every month from the firm. Calculate 

the amount of interest on drawings @ 6% per annum, assuming that : 

 (a) She withdraws the amount at the beginning of each month. 

 (b) She withdraws the amount at the middle of each month. 

 (c) She withdraws the amount at the end of each month. 
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PART – III 
A. 13  16   3   .  3  . 

     (3  3 = 9) 
13. .    .    

    : 

 01-04-2020    ` 1,00,000 

 01-10-2020-     ` 30,000 

    – 6% p.a. 

 
14.    31-03-2021   

  -  . 
   : 

  () 3,200 

  12,000 

   10,000 

 
   : 

  4,000 

    3,600 

   1,000 

 
15.       

   .  
 
16.   3 : 2     . 

   1/5    
    .    
  .  

 

B.    . 3  : (1  3 = 3) 

17.         
 ` 1,500  .   
    6    
 : 

 (a)      .  
 (b)      .  
 (c)      . 
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PART – IV 

A. Answer any 2 questions from 18 to 20. Each carries 4 scores. (2  4 = 8) 

18. A firm’s profits for the last four years were given below : 

 2018 – ` 35,000 

 2019 – ` 45,000 

 2020 – ` 50,000 

 2021 – ` 30,000 

 Calculate the value of firm’s goodwill on the basis of two years’ purchase of the 

average profits for the last four years. 

 

19. Write the provisions in the Indian Partnership Act applicable to accounting in the 

absence of partnership deed. 

 

20. Hameed, Thomas and Suresh are a partners sharing profits and losses in the ratio of      

3 : 2 : 1. Thomas retires and the goodwill of the firm is valued at ` 60,000. Hameed and 

Suresh decided to share future profits and losses in the ratio of 2 : 1. 

 (a) Calculate the gaining ratio of Hameed and Suresh. 

 (b) Pass journal entry to adjust Thomas’s share of goodwill in the gaining ratio. 

 

B. Answer any 1 question from 21 to 22. Carries 4 scores. (1  4 = 4) 

21. Calculate the balance amount of Tournament Fund that will appear in the balance sheet 
of a not-for-profit organisation. 

 Tournament fund 40,000 

 Donation for tournament 4,500 

 Sale of tournament tickets  13,000 

 Tournament expenses 37,500 

 

22. Average profit of the firm for the last four years – ` 40,000 

 Capital employed in the business – ` 3,00,000 

 Normal Rate of Return – 10% 

 Calculate value of firm’s goodwill based on two years purchase of the super profits of 

the business. 
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PART – IV 

A. 18      20       2          . 4  
.   (2  4 = 8) 

18.         : 

 2018 – ` 35,000 

 2019 – ` 45,000 

 2020 – ` 50,000 

 2021 – ` 30,000 

          
    .  

 

19.       
   .  

 

20. , ,   3 : 2 : 1    
 .  ,    60,000 
.   2 : 1     
 .  

 (a)     .  

 (b)       
  .  

 

B. 21  22   1   . 4 . (1  4 = 4) 

21.       
   .  

   40,000 

   4,500 

      13,000 

   37,500 

 

22.       – ` 40,000 

    – ` 3,00,000 

    – 10% 

        
    . 
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PART – V 

A. Answer any 1 question from 23 to 24. Carries 5 scores. (1  5 = 5) 
23. The Receipts and Payments Account of Desasevini Library is given below. Prepare 

Income and Expenditure Account for the year ended 31st March, 2021. 

Receipts and Payments account for the year ended 31-03-2021 

Receipts Amount 
(`) 

Payments Amount 
(`) 

Balance b/d (Cash) 2,500 Salary 3,400 

Subscription 6,200 Furniture 6,000 

Donation 5,000 Rent 2,600 

Life membership fees 1,000 Newspapers 1,800 

Sale of old newspapers 300 Balance c/d (Cash) 1,200 

Total 15,000 Total 15,000 

 Additional Information : 

 (1) Subscription outstanding as on 31-03-2021 amounts to ` 800. 

 (2) Rent paid in advance as on 31-03-2021 amounts to ` 600. 

 (3) Provide depreciation @ 10% on furniture. 

 

24. Suneetha and Vismaya are equal partners in a firm. Their balance sheet as on March 31, 
2021 is given below : 

Balance Sheet as on 31-03-2021 

Liabilities Amount 

` 

Assets Amount 

` 

Creditors 12,000 Cash in hand 4,000 

Capitals – Suneetha 40,000 Stock 8,000 

  – Vismaya 40,000 Debtors 10,000 

  Furniture 20,000 

  Machinery 50,000 

Total 92,000 Total 92,000 

 They agreed to admit Mary into the firm with 1/3 share in future profits and decided to 
revalue their assets at that time. 

 (1) Value of stock should be increased by ` 2,000. 

 (2) Depreciate Furniture by 5%. 

 (3) A creditor of ` 500 is not likely to claim his money and is to be written off. 

 (4) A provision for doubtful debts is to be created on debtors at 5%. 

  Prepare Revaluation account. 
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PART – V 
A. 23  24    1   . 5 . (1  5 = 5) 
23.     –  (  

)   . 2021  31-  
 -  (   
) .  

2021  31-     
  (`)   (`) 

 () 2,500  3,400 
 6,200  6,000 
 5,000  2,600 
   1,000  1,800 
   300  () 1,200 
 15,000  15,000 

   : 

 (1) 31-03-2021-   ` 800 .  
 (2) 31-03-2021-    ` 600 .  
 (3)  10%  () .  
 

24.      . 2021  31-
   ( )   : 

31-03-2021    
  

` 

  

` 
 12,000   4,000 
 –  40,000  8,000 

  –  40,000  10,000 

   20,000 
   50,000 

 92,000  92,000 
   1/3     

      
 .  

 (1)   2,000  .  
 (2)  5%  () .  
 (3)    500    

.  .  
 (4)  5%    .  
    . 
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SECTION – B 

(COMPUTERISED ACCOUNTING) 
 

PART – VI 

A. Answer any 2 questions from 25 to 28. Each carries 1 score. (2  1 = 2) 

25. TVC for Trivandrum, TCR for Thrissur etc. are examples of : 

 (a) Sequential codes (b) Block codes 

 (c) Mnemonic codes (d) Alpha Neumeric codes 

 

26. The intersection of a row and a column in a spreadsheet is called : 

 (a) Cell (b) Cell reference 

 (c) Range (d) Function 

 

27. Identify the function which displays the current systems date and time. 

 (a) TODAY (b) NOW 

 (c) DATE (d) DATEVALUE 

 

28. In GNUKhata, the transaction ‘Cash deposited into Bank’ is entered through : 

 (a) Receipt Voucher (b) Payment Voucher 

 (c) Contra Voucher (d) Journal Voucher 

 

B. Answer any 1 question from 29 to 30. Carries 1 score. (1  1 = 1) 

29. Identify the function used to calculate accrued interest on securities and bonds in 

LibreOffice Calc. 

 (a) PMT (b) ACCRINT 

 (c) NPV (d) FV 

 

30. Identify the chart used to display trends over a period of time. 

 (a) Bar Chart (b) Column Chart 

 (c) Line Chart (d) Pie Chart 
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SECTION – B 

(COMPUTERISED ACCOUNTING) 
 

PART – VI 

A. 25  28   2   .  1  . 

       (2  1 = 2) 

25.  TVC  TCR    
 : 

 (a)   (b)   

 (c)   (d)    

 

26.         : 

 (a)  (b)    

 (c)  (d)  

 

27.       .  

 (a) TODAY (b) NOW 

 (c) DATE (d) DATEVALUE 

 

28. , ‘  ’    
_________  : 

 (a)   (b)   

 (c)   (d)   

 

B. 29  30   1   . 1 . (1  1 = 1)  

29.        
   .  

 (a) PMT (b) ACCRINT 

 (c) NPV (d) FV 

 

30.        
.  

 (a)   (b)   

 (c)   (d)   
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PART – VII 

A. Answer any 3 questions from 31 to 34. Each carries 2 scores. (3  2 = 6) 
31. State the relevant functions in LibreOffice Calc used for the following purposes : 
 (a) To find the minimum value in a given range of cells. 
 (b) To find the total of the value in a given range of cells. 
 
32. Briefly explain use Tables and Forms in LibreOffice Base. 
 
33. List out any two advantages of preparing Graphs and Charts. 
 
34. Explain the use of ‘SLN’ and ‘DB’ functions in LibreOffice Calc. 
 

B. Answer any 1 question from 35 to 36. Carries 2 scores. (1  2 = 2) 
35. Briefly explain any two security features of Computerised Accounting System. 
 
36. List out any two system generated ledger accounts in GNUKhata. 
 

 PART – VIII 

A. Answer any 2 questions from 37 to 39. Each carries 3 scores. (2  3 = 6) 
37. Explain any three merits of computerized accounting system. 
 
38. Fill the series on the basis of hint given : 
 Hint : TODAY – Date & Time function. 
 (a) IF – ..................... 
 (b) COUNT – ..................... 
 (c) SUM – ..................... 
 
39. Explain the purposes of using the following voucher types in GNUKhata. 
 (a) Receipt Voucher   
 (b) Sales Voucher 
 (c) Purchase Voucher 
 

B. Answer question number 40, which carries 3 scores. (1  3 = 3) 
40. Match the following items in Column – A with Column – B :  

A B 

(a) PMT To convert a number into a text 

(b) TEXT To search certain values from a table 

(c) LOOKUP To calculate Equated Monthly Installment 

____________ 



SY-73  15 P.T.O.  

PART – VII 
A. 31  34   3   . 2  . 
     (3  2 = 6) 
31.       

  : 
 (a)       . 
 (b)       .  
 

32.       
 .  

 

33.      .  
 

34.    ‘SLN’, ‘DB’   
.  

 

B. 35  36    1   . 2 . (1  2 = 2) 
       
35.       

  .  
 

36.        
 .  

 

 PART – VIII 
A. 37     39     2      . 3  

.    (2  3 = 6) 
37.       

.  
 

38.      : 
  : TODAY –  &   
 (a) IF – ..................... 
 (b) COUNT – ..................... 
 (c) SUM – ..................... 
 

39.       
.  

 (a)   (b)   (c)   
 

B. 3  40-    . (1  3 = 3) 
40.  A     B   :  

A B 
(a) PMT      
(b) TEXT        
(c) LOOKUP      

____________ 



SY-73 16  

 


